Vorkers trathemetik, 31att 5

(1) a)
$$\int_{0}^{\infty} dx \sin x \cos^{2} x = -\int_{0}^{\infty} dx \sin^{2} x = 2 \int_{0}^{\infty} dx \sin^{2} x \cos^{2} x = 2 \int_{0}^{\infty} dx \sin^{2} x \cos^{2} x = 2 \int_{0}^{\infty} dx \sin^{2} x \cos^{2} x \sin^{2} x \cos^{2} x = 2 \int_{0}^{\infty} dx \sin^{2} x \cos^{2} x \sin^{2} x \cos^{2} x \cos^{2} x = 2 \int_{0}^{\infty} dx \sin^{2} x \cos^{2} x \sin^{2} x \cos^{2} x \cos^{2} x \sin^{2} x \cos^{2} x \cos^{2} x \sin^{2} x \sin^{2}$$

$$||| = \int_{1}^{4} dx \frac{3x}{\sqrt{x^{2}-2^{2}}} = \int_{1}^{4} dx^{2} \frac{3}{2} x^{-1/2}$$

$$||| = \int_{1}^{4} dx \frac{3x}{\sqrt{x^{2}-2^{2}}} = \int_{1}^{4} dx^{2} = \int_{$$

$$(2|C|) = \int_{0}^{1} dx \xrightarrow{X} ; K = 1-x^{2}; dx = -7x dx$$

$$(2|C|) = \int_{0}^{1} dx \xrightarrow{X} ; K = 1-x^{2}; dx = -7x dx$$

$$=\sqrt{1-62}$$

(b)
$$\int_{-\pi/2}^{0} dx \frac{\cos x}{2-\sin x} = I; \quad \mathcal{L} = 2-\sin x; \quad dx = -\cos x dx$$

$$= -\int_{3}^{2} \frac{dx}{x} = \int_{2}^{3} \frac{dx}{x} = \ln x \cdot \int_{2}^{3} = \ln \frac{3}{2}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{4}$$

$$|C| \int_{0}^{h} dx \frac{x^{4}}{+\alpha x^{5}} = I | x = 1 - \alpha x^{5} | dx = -5\alpha x^{5} | dx = -5\alpha x^{4} | dx = -5\alpha x^{5} | dx = -$$

$$(d) \int_{0}^{h} dx \frac{\sin x \cos x}{1 + \cos^{2} x} = I$$

$$M = \cos x$$
, $dx = -\sin x dx$

$$=\int \int dx \frac{\pi}{1+\pi^2} = \int dx \frac{\pi}{1+\pi^2}$$

$$N = |+ \kappa^{2}| dv = 2 \kappa d\kappa$$

$$= \int dv \frac{1}{2v} = \frac{1}{2} \ln \kappa \left(\frac{2}{1 + \kappa^{2} k} - \frac{1}{2} \ln \left(\frac{2}{1 + \kappa^{2} k} \right) \right)$$

$$= \int dv \frac{1}{2v} = \frac{1}{2} \ln \kappa \left(\frac{2}{1 + \kappa^{2} k} \right)$$

$$|e| \int_{0}^{\pi(cc)} dx \ a \sin(ax) \cos^{4}(ax) = I$$

$$T = \int_{0}^{1} du^{2} N_{1}^{2} = \frac{1}{M_{1}} N_{1}^{2} = \frac{1}{M_{1}}$$

$$A' = x^{3} i dx = dx 3 x^{2}$$

$$= \int I = \frac{1}{3} \int_{0}^{13} dx \, |xp(-1)| = -\frac{1}{3} |xp(-1)| = -\frac{1}{3} |xp(-1)| = -\frac{1}{3} [1 - |xp(-1)|]$$

(8)
$$\frac{0}{(441)^{113}} = 1$$

$$u' = x^{3} - 1 ; du' = dx 3x^{2}$$

$$t = \frac{1}{3} \int_{1}^{1/4} \frac{du}{(x^{2})^{4}} = \frac{1}{3} \tan x \int_{0}^{1/4} = \frac{1}{3} (1 + \tan 1)$$